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(hwqup gpuudGhpny)
% =l e £jnmotinwjhG dwluubph gnpownwiwl puuwjupqiwb o wjn pynid
ST wdhGGtph, fudptnh L nwubph, hGswtiu Gul pynigtimwjhG £
vl 2|3 P 2
'EI 3 E &|  Swhubph wmGnbuwghunwywl puuwlwpgiwG hnnjudGkph % Z| COnwdtlp | qupawlmG - pnlowihl
n | pjnigt pjniot
wiywlmibtpn ~
1 12]3|4 5 6 7 8 9
LLHUUGLL U UGR 174,392.0 169,892.0 4,500.0
2100(01] 0 | 0 | CLKTLNR ALARBEP LULAUSHEL SUAUSNARE-3NMLLER 75,371.0 70,871.0 4,500.0
win punui-
OptGunpp L gnpownhp SwpdhGGhp, vl l Junwwpnid,
2110|01f 1| O | pAbwGuwlpuG b hwpluwpnighnuyhlG hwpupbpmpym GGap, 74,901.0 70,671.0 4,230.0
wnnuphl hwpupbpnipniGG6p
nphg”
2111101 1| 1 [OptGunhp L gnpownhp YwpdhGGtp,wybnwluwl junwywpnid 74,901.0 70,671.0 4,230.0
wjn pymd’
1. Gupwywpdwl JwpdGh wwhwywind 70,671.0 70,671.0 -
-UpfuwwnnnGph wluwwmwywpdbp b hwybuygwnlbp 4111 46,085.0 46,085.0 -
- MupqlwwumpniiGbp, ngpuiwiul fupwfuntuniGhn L hwnndy 4112 46085 4,608.5 )
Jawpltip
-Unghwjujw 6 wuyuwhnympjub yawnbtip 4131 9,124.8 9,124.8 -
-EGtpgbmply ownwynmpjniGGtp 4212 761.6 761.6 -
-UniniGw ownwjnipjmGGtp 4213 200.0 200.0 -
-Quuh dSwnwjmpjniGGtp 4214 2,120.4 2,120.4 -
- Uywhnjuqgpuywl owfuubin 4215 120.0 120.0 -
-Upnwuwhdwljub gnpomnnuiGtph qony dwfuubtp 4222 1,000.0 1,000.0 -
-Stnuiuunyuwiwb dwnwynmpjnGGtp 4234 476.8 476.8 -
-Lhipjuwjwgnigswliwb dwhuubp 4237 300.0 300.0 -
-UtiptiGwGtph L vwppwynpnuiGtiph pGpwghl Gnpngnid L 4252 803.0 803.0 )
wwhwwlnid
-QnuubiGyuyuwyht Gympbtp L hwgniun 4261 1,184.8 1,184.8 -
-SpwluwnpuwjhG Gyniptip 4264 3,770.1 3,770.1 -
-UtlGgunujhl L hwGpwjhG uGGnh Gymptp 4267 100.0 100.0 -
-Mupumwnhp yewnpltp 4823 16.0 16.0 -
2. Jwpswlwl opjblnlbph hpdGwGnpngnid 4,230.0 - 4,230.0
-Chlptiph L 2hGnipyniGGtph uwhumw) yepwlnpngnid 5113 4,230.0 - 4,230.0
LGnhwlmp plnyph hwlpughl ownwynipyniGGhph qony )
2150)01) 51 0 hmwgmnwlwi L Gwliwgdwihl wyluwmnwlpGhp 2100 2100
nnhq”
Canhwlnip pGnyph hwlpwyhG ownwynipymGGtph qony )
215110115 1 htinmwgnunwliwi b Gwuwgqowihl wyluwwnwipGbp 2700 2700
win punui-
1. bwfuwqowhl wplnwmwlpGhnp 270.0 - 270.0
- Lwfuwqdwhbmwgnuuwywb dwjuubkp 5134 270.0 - 270.0
2160l01l 6 | 0 CanhwGmp pGnyph hwlGpughG owpuympymGGLp (uy nuiubphG 200.0 200.0 )
gyuunyubing)
nphg
2161l01l 611 Canhwnip pGnyph hwlpwihG ownwympymGGtp (w)) nuubkphG 200.0 200.0 )
swwwnwlnn)
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| = B
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s (& pjmgk pjnigh
wldwlniGhpp ~
1 12]3|4 5 6 7 8 9
wn pynul”
2. Qniph Gunndwip ipwymbplnh gpubgdwb L 200.0 200.0 )
wnbnbjuwunynipjul mpudwnpiiw 6 hbn jwupfiwd JdwpnidGhn ' '
-Mupumwnhp ydwnpltp 4823 200.0 200.0 -
2400(04] 00 SLSEUULUUL {ULUARAGLNMISNRLLER 4,600.0 4,600.0 -
wn pynud”
2420l0al 2 | o QmpunGumbunipynl, wGmwnuyyhlG mbnbunipyn G, 6000 6000 )
dllinpumpynil L npunpnnipym G
nphg”
2421(04] 2| 1 (@ lntiumpyn b 600.0 600.0 -
w)n pymi’
1. QympquwmbGumbuwlpub jhlnuwihGh wunuwuung 600.0 600.0 -
-Uwulwghnwlyuwb ownwjnipniGGtp 4241 600.0 600.0 -
2450(04| 5| 0 |SpwGuynmn 4,000.0 4,000.0 -
nphg”
2451(04] 51 1 [cwlGwwwphwjihl wpwluwynpn 4,000.0 4,000.0 -
wn pynud”
1. Uupwpn-pnnGiuw owolh Ybpwlnpngnd L wywhuyywGnid 4,000.0 4,000.0 -
-Chlptph L JunnygGtph pGpwghy Gnpngnid b yywhuwjw Gnud 4251 4,000.0 4,000.0 -
250005/ 00 crUul Uh2UJYU3Lh MUCSNAUTLAME3NFL 19,100.0 19,100.0 -
wyn pynid”
2510(05( 1| O |UnpwhwGnus 13,100.0 13,100.0 -
nphg”
2511(05| 1| 1 [UnpwhwGnud 13,100.0 13,100.0 -
win pynud’
1. DwGhmwpwlju G dwppnid 13,100.0 13,100.0 -
-UnintGwy dwnwjnipjniGGup 4213 13,100.0 13,100.0 -
256005 6 | o |CAEWYw dhgwyw ph wwzumuywnipym G (w)) puubphl 6,000.0 6,000.0 i
Jyunnluiling)
nphg”
256105| 6 | 1 |CnewUw dhowidunh wwpuwwnipjnl (wji pwubphG 6,000.0 6,000.0 i
swwwnwlinn)
wjn pynud’
1. Qwlws mwpwioplbph hhdGnd b wwhwwlnig 6,000.0 6,000.0 -
-UniniGwy ownwjnipymGGtp 4213 6,000.0 6,000.0 -
2800(08] 0|0 {ULahUSs, UTUUNM8E 6d U0 8,961.8 8,961.8 -
wjn pynud’
2810(08| 1| 0 (<wliquunp L uynmnp SwpwinipniGGbp 1,800.0 1,800.0 -
nphg
2811108 1| 1 [RwGquup L uynpup dwnwjmpjniGGtp 1,800.0 1,800.0 -
wn pynui”
1. Uynpunwih6 shongupmuGbnh juqiuybpymy 1,800.0 1,800.0 -
- Uy pGpwghy npudw) GnphGtip 4639 1,800.0 1,800.0 -
2820(08| 2 | O |Upwynmpuijpl ownwyympm GGhp 7,161.8 7,161.8 -
nphg”
2821108 2 | 1 [QpwnwpwGGtp 3,261.8 3,261.8 -
wjn pymy’
1. QpunuwpubuihG ownwinipmGGhn 3,261.8 3,261.8 -
-UnipuhnhwGlip ng phGwlGuwub yhmwlub (hwdw)lGpujhG) 4511 3,261.8 3,261.8 )
JugiwytpynpmiGGtphG
2824108| 2 | 4 Uy GywympwjhG juqiwytpynipjnGatn 3,900.0 3,900.0 -
win pynud’
1. UDpwlmpwihl dhongupnidGhph hpwljuGugniy 3,900.0 3,900.0 -
- Uy ppwghy npuidwy GnphGip 4639 3,900.0 3,900.0 -
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290009/ 0|0 YpLENMF3NFL 57,742.0 57,742.0 -
wyn pynud”
2910(09( 1 | O | bwfuwnpypngwwb L mwppwlwlb pGnphwlmp YppnipiniG 21,600.0 21,600.0 -
nphg”
2911(09 1| 1 [vwluiwnypngulwl Yppnipnil 21,600.0 21,600.0 -
wjn pynid’
1. Ywluwnupnguilpw G niunignid 21,600.0 21,600.0 -
-UmpuhnhwGtp ny $hGwluwul yhmwub (hwdw)GpwjhG) 4511 21.600.0 21.600.0 )
JquqiwytpympniGGtphG
2950(09( 5| O | Lumn dwhmpnulyGbph spuuwljupginng Ypponipynil 36,142.0 36,142.0 -
nphg-
2951109( 5| 1 [Upnwnupnguwlywl nuwumhwpwlynipyniG 36,142.0 36,142.0 -
wyn pynud -
1. Upnwnupnguwljul nuumpwpuwilnipn G 36,142.0 36,142.0 -
-UmpuhnhwGtp ng hGwbuwul yhmwyub (hwiw)GpuwjhG) 4511 36,142.0 36,142.0 i
JququiwltpynpniGGtphG
3000(10{ 0] 0 UnNshuLUYUL MUCSNULNARMe3NFL 8,617.2 8,617.2 -
wjn pymy
3070l10l 7| 0 Unghwywljw G hwmnml wpmnGopjniGGap (wj] nuubphl 2.100.0 2,100.0 )
Suyjunnljuiing)
nphg
3071010l 71 1 Unghwjuywl hwwnml wpnnGnipymGGtp (w)) nuutphG 2.100.0 2.100.0 )
Jwwwnlwlnn)
wjn pynd
1. Unghwjmwbu wlwwywhny pluwGhpGbph bpbfuwbbph
1. Unghwjunybu wlwuywhm] pGuuGhpGtph bpbfuwih 100.0 100.0 )
hwlguinh juquulbpuniy
-Qnyyph L vwppwynpnudGiph Jupdwuwimpjni 4216 100.0 100.0 -
2. dwnwquun smbgnn wldwlg L unghwjwwbu wlwujuwhn
plunwlhpGEph hudwp hmpupluynpuipjul Juquwbpyng 400.0 400.0 i
-CGnhwlnmp pGniyph wy) SwnwjnpniGGtp 4239 400.0 400.0
3. Unghwiwwbu wlwwwhny pGuwhpGbphl wnbwlwl opbphl
3. Unghwjwwbu wlwwwhm] punwGhpGhphG wnGwlwb opbtphG 400.0 400.0 )
wowlignmpni G
~Lwunnty GuuwunwljwghG wy Gmphp 4269 400.0 400.0
4. Unghwjwwbu wwwwhny wldwlg wowlgnipniG 1,200.0 1,200.0 -
-Uj1 GuuwuwnGlp pymotihg 4729 1,200.0 1,200.0
3090(10| 9 | O |Unghwjwlw G wwpmwwbnipyni G (wyp quubphl supumlwbng) 6,517.2 6,517.2 -
nphg-
3091(10[ 9| 1 [Unghwjwlwl wwpumwwlnmpjniG (wj) nuubpphl swuwnljwlnn) 6,517.2 6,517.2 -
wjn pynid
1. Unghwjwljw@ oglimpjwl ownwmpimGGtph gnpom Genipjul 6,517.2 6,517.2 )
wquwibpymy (wwyhpwlijwé jhugnpnipin GGG,
-UuwwnnnGtph wyfuwwnmwyuwnpdtipn W hwybjuddwnpbtp 4111 5,202.9 5,202.9 -
-Unghwpuyul wuywhnynipjw G yGwnplbp 4131 999.7 999.7 -
-EGtpgbmply ownwynpjniGGtp 4212 167.2 167.2 -
-GQuuh dwnwjmp niGGtp 4214 69.8 69.8 -
-QnuubiGyuyuwyht Gymptp L hwgniun 4261 77.6 77.6 -




